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General Instructions :

(i)

(i)

(iii)

57(B)

There are a total of 26 questions and five sections in the

question paper. All questions are compulsory.

Section A contains questions number 1 to 5, Very Short Answer

Type Questions of one mark each.

Section B contains questions number 6 to 10, Short Answer

Type I Questions of two marks each.
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(iv) Section C contains questions number 11 to 22, Short Answer

Type II Questions of three marks each.

(v)  Section D contains question number 23, Value Based Question

of four marks.

(vi) Section E contains questions number 24 to 26, Long Answer

Type questions of five marks each.

(vit) There is no overall choice in the question paper, however, an
internal choice is provided in one question of two marks, one
question of three marks and all three questions of five marks.
An examinee is to attempt any one of the questions out of the

two given in the question paper with the same question number.

Eus <h
SECTION A

1. Tl § I arel -HIeT AT Qi T hieHTeh] ST AR fosshE
foReT It 8, W o=d wa o o4 <t Ufshen faig Terdt &t 2 |
Teh sh[UT §dTST | 1

In cleistogamous plants, growing on agricultural lands that are

regularly sprayed with insecticides, fertilisation and seed
formation goes on undisturbed. Give one reason.

2. Tt dgw & & Uefla & fou gfonfva weam fafee s shea
TS ST U & tfered g | | 1

Write a term for an allele of a character that expresses itself
only in homozygous condition.
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57(B)

ad1ey foh a1 SHT oAl for 3T | 9o &gl I § |

State when are the two genes said to be linked.

HIV % AU 90 sl .00 90 § giEfdd s o Tea
=1 9 fafEu |

Name the enzyme responsible for the RNA genome of HIV to
change into DNA genome.

Jiae TSI{aeTTsl ol Teh IgTeLYT Ty |
Write one example of restriction endonuclease.

LCRERC)
SECTION B

Tl fova o AJHYMHAl STHTSH® SHI Wl Hehild el H
TMTANG L | YT 2 | R ? HRUT T3 (Hig ) |

Why are researchers the world over, trying to transfer

‘apomictic’ genes into hybrid seeds ? Give reasons (any two).

et ®E o uifeufeai sasr A DNA  siffaerdt (o,
fmefSife) w1 Swm tavEes § |

HAYAT

Th ISTEW shl HEIAAT § SEAHTIedT shi AT hIT |

Mention any two situations in which the use of DNA
fingerprinting is necessary.

OR
Explain pleiotrophy with the help of an example.
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8. WA H UE W dTcit AYHeE! i A S 1 o+ 9 fafaw |
HIA! o J5UUT o THY Wdl H AYTFE! o Sl d B dTct hIg gl ATHi
T Il hifoT | 2

Write the scientific name of the common species of honey-bees

found in India. Mention any two benefits of keeping bee-hives

in crop fields during flowering periods.

9. fTmfafea va= 1 & fou form woer 1 ufcren — @fspa 3tem@n
fafska, gem &t St =R

(i) B a=1 ° Fem (SEparred) & fy & fae
(i) Hg gHeA H U Hfad H &8 o Ty & fog
3 I hI gfse o forw spror oft G | 2

Mention the type of immunisation — active or passive, that

should be provided for each of the following :
(i)  Prevention of tuberculosis in young children

(i1) Prevention of tetanus in a person injured in a road
accident

Give reason in support of your answer.

10. (a) 39 uRfeyfaai i fafge A 9 qon S &R o Ffe Jig
56 IRATEd BId @ |

b) S % v gad ¥ s ¥ Y e TR W 9z 9
o SRR B S i 7 2

(a) Write the conditions under which ‘J° and ‘S’ shaped
growth related population curves are observed.

(b) In a bacterial culture, which one of the growth curves
mentioned above would be observed first and why ?
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11.

12.

13.

14.

57(B)

Qug
SECTION C

Y qh qdn hle WA 0 o " AR e | I IR &
QYT Rl Ueh-Ush 3ETETU SIT |

Write the differences between wind pollinated and insect
pollinated flowers. Give one example for each type of
pollination.

FYgIeficd Yur <l 39 Fadn o1 99 e e sgem sratdor g
HHd HIET § BiAl & | SHehl BEHT Ud U9l B4 deh <hl fafve
T3 R GUF <hIFT |

Name the developmental stage that gets implanted in a

pregnant human female. Describe its structure and the events
that lead to its implantation.

T Y R 8 ? WH I i wqrsq s Hror 37 ¥g AW few
T™E |

What is an adapter molecule ? State the two functions for

which it is termed so.

Ycdeh o Ueh-Ush 3ICTEUT <hl UgM¥al 9 9Erl qon AfE faea &
e 37T Tyse hifY |

AT

“eifda o TR uafl srggat fafRor o1 wam 3G & |7 SEH
3N FaTT | STl TRt T Teh 3T 3ETET ST |
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15.

16.

17.

18.

57(B)

With the help of an example each, differentiate between
divergent and convergent evolution.

OR

“Darwin’s finches represent one of the best examples of
adaptive radiation.” Justify how. Give another example of
adaptive radiation.

o Tk gEdl Sau HifReR § R gEl Bl T 66 x 100 B,
a S, fopedl 6 e w1 M 2 IR § 34 @R A9 i
URISHT | Y[FAAram fohdl TR g & ?

Write the length of DNA double helix, if the total number of

base pairs are 6:6 x 107 in a typical mammalian cell. How do
nucleosomes help in packaging this long molecule in a cell ?

TRl & Ueehlgla IR T & HUAM HI U™ wd o & fofg
IFTft fepegl e 3UTI <hl saTE hifvu |
Explain any three measures that would be useful for

prevention and control of alcohol and drug abuse among
adolescents.

Afdesh e ST (LAB) AR ¢fies Sfiew § form yopR @mve & 2
ST hIfVT |

How are lactic acid bacteria (LAB) beneficial to us in our
everyday life ? Explain.

“YRAETTE & SHE FRTAIIAISIGET IH hIE h Sd
g 17 R0 <d gU Ififuey Famsy |
“Nucleopolyhedrovirus, a genus of Baculovirus are excellent

candidates for biological control agents.” Justify, giving
reasons.
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19.

20.

21.

22.

57(B)

qifers TEern stfufshan (wifermist =9 feem) (39 fagl) w1 3w
A gY ATHRRT S et o ToTu sTrerwersh AT <l =il 418 o
3Teh! YfHreRT +ft Tuse HIfT |

List the materials, along with their roles, required to carry out
amplification of gene of interest using Polymerase Chain

Reaction (in vitro).

T STt S fob TS @t Seqa (Fmion) s agsat & fote fopm
TR TATHYG BT 2 ? AT T |

How has creation of transgenic animals such as ‘Rosie’ proved

to be beneficial for humans ? Explain.

Teh 3CTE hl el | AR Hife T dfgerg gRiseiag digsh

yfaQet Y (Baer) foswfad w0 fh TR 98 § 2

With the help of an example, explain how Bacillus

thuringiensis has helped in developing pest resistance in crops.

Teh AU I AT Bl AN (ILIThehyH) RN STl & | ard H
(a) AaTd, (b) &1.37.1. (BOD), A (c) §)g gl i feufd it =men

hITTT |
A fresh water pond was found to undergo eutrophication.

Explain the status in the pond of (a) Algae, (b) BOD, and

(c) Large animals.



23.

57(B)

Qs Y
SECTION D

ST ARG o $S UsAI & @dl H 9 o gol Jaar il 98 THH W
AT I & T THLT TF et &= | g il A1dt T (I1e) B
TE AT 1Y TGHUT §¢ AT | $Heh horkawy W&reed i Wi gHend
39 B R |

(a) Tl @ samt = gEeg Fifse St di 9 ggmm & o
IRl & |

(b) PM 2-5 74T 398 B hUI UG T o AU AcId BRI
AH S 8 | o= 2

(c) TUeh JReeh ATk B o U AT9eh! fhEMT o T S SR
JNIE =@ & T %1 a1 8 MEE 3% SN Mlrse &

fraem =g fifera foRem S @k | 39 @ UM 1 gIsT N W
39 3feres o &1 = | 4

Burning on large scale of paddy stubbles in the crop fields in
some states of northen India led to a thick blanket of smog and
air pollution in the national capital and its neighbouring
regions. It has resulted in serious health problems.

(a) List any two industries that heavily contribute to air
pollution.

(b) Why is PM 2:5 or less said to be extremely harmful for
human health ?

(c) You as an informed citizen are asked to organise an
awareness programme amongst the farmers so as to
educate them how to handle agricultural waste. Suggest
two ways that you will impress upon.
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24.

25.
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(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(c)
(d)

Qs &

SECTION E
I H SGRIUHA i dTelt hifsrehretl o1 19 foafge | 3eht
forferse fearfa war quregs st wen ot forfem |
I[SRTU[ST JfShaT ST S[GRIY] S+ e I Toaiul fARaT | 1+4=5
T

U g0 <t W areft MicEn” (TUew) ® -1 9grd grar & S
3eg Tt 51 <1 B 2

T H IAd Tk (HREgITA Higehal) % A gl e
ST HiT |

Name the cells that undergo spermatogenesis in humans.

Write their specific location and chromosome number.
Describe the process of spermatogenesis up to the
formation of spermatozoa.

OR

What do ‘oral pills’ contain that makes them act as
contraceptives ?

Explain the hormonal regulation of menstrual cycle in
humans.

OqeHd 9 T 3 319 TN | A18eieM & g fafira aueentaent
T IGIT R R 2
3R TIRIHT Hicirs (E. coli) 994U AIEAH & THT 1 T&0l

fohd ST 3TdUA & o1 foRaT 3T =11 2
Ik TN | 3Teheg1ohT0T 1 T Hawl o ?

T o 37d H 3-8 o1 sk et 2 2+1+1+1=5

HAYAT
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[ N e NI N

A o WY T Teh-Hoht 3h1d U W F,-Hafd FHfeifad 3q9d | 9req

T
1)3:1;G1)1:2:1
= fou 7T el % W T
(a) Torrwent it gemTla o Fed § A 3T AT YGRIA hid & ?
(b) T Ul I YT i & T 0 TR 1 hid {ohH TR U=

Toram TR 2
(c) 39 YR o Shi¥ & YR W Hed gl Jfddied ad s af
T fafeT | 142+2=5

(a) Why did Messelson and Stahl use two different isotopes
of nitrogen in their experiments ?

(b) Write the time interval at which they collected their
samples of E. coli from the culture medium for testing,
and why.

(c) Write the importance of centrifugation in their
experiments.

(d) State the conclusion they arrived at, at the end of the
experiment.

OR

In a monohybrid cross carried out in a pea plant, the following
ratios were obtained in the F,-progeny :

13:1;@@)1:2:1
Answer the questions given below :

(a) What do these ratios represent with respect to
inheritance of the trait ?

(b) How is this type of cross carried out to obtain these
ratios ?

(¢) State the two laws of inheritance Mendel derived from
such a cross.
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26. S @@ @Al H gEgEd ¥ SLELA. H Sa-AEdd a9 =
YU & o Sl I 38k HTE &l GHY | 5

arerat

(a) T&EI (57-19g) B0 F1 % ?

(b) F &t FI wus: Sa fafqear gle-wdie’ qan 9fas Iy Ste@n
YA <kl Tg= ford SMYUR 9 <hl T8 & ?

(c) YRd ¥ forgl a1 “dfem 3y’ wa ol @1 SS9 fafaudr gie-wie’
& 91 fafau | 1+2+2=5

With the help of an aquatic food chain, explain
biomagnification of DDT and its effect on the occupants of the
highest trophic level.

OR
(a) What is in-situ conservation ?

(b) Write the basis on which certain areas have been
designated as ‘Hot spots’ and ‘Sacred groves’ respectively.

(c) Mention any two ‘Sacred groves’ and any two ‘Hot spots’
in India.
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